23)

1/0 do/din(y

Ratio to ALEPH

=
o

Rivet 3.1.10, = 3.4M events

91 GeV ee vy*/Z (Hadronic)
| : | : | : | : : | : | | : | : | :

- pEEEEEENy .
_ grapamusEEEs "y _
= z® ;! =
- L -
N 7]
=) Q! —]
=3 ] =
— ! & _]
N . =
E_i &m =
= geT ™ =
— m  ALEPH ¥y = .
= - o- Pythia 6.428 390 L Un =
—  --8- Pythia 6.428 391 % @
| --%-- Pythia 6.428 392 7
= --~-- Pythia 6.428 396 %\% =
- % Pythia 6.428 397 ‘iy =
__ ---¥-- Pythia 6.428 398 T% i
s HE
N HE
== | | | | | | | | | BE=
4 -

mcplots.cern.ch [arXiv:1306.3436]

N

0.5



	Contents
	Page 1


